SBG600-2
SBG601-2 - Rotisserie

Page
SbB-46




PARTS LIST HOOD VIEW

Index Part

No. Number Description Qty.

SB-142101/1600

Oven Body

SB-141601/406

Right Gemel

SB-142101/1500

Burner Support

) SB-142501/2302 !
7 SB-142101/413 Back Burner Stator
8 SB-141901/3309 Rotisserie Baffle Board
9 SB-141601/405 Left Gemel

26

SB-142101/409

20 * Screw M4 x 12
21 * Screw M6 x 12
22 SB-142101/408 Left Panel Rack

Right Panel Rack

27

29

SB-142101/404

Thermal Insulation Sheet

Screw M6 x 15

* Can be purcahsed from local hardware store.

Index Part
No. Number

PARTS LIST

*

SB-142101/304

Screw M6 x 15

Lid Handle

* Can be purcahséd from local hardware store.

SBG600-2

SBG601-2 - Rotisserie

Hood View

3 1
4 SB-142102/1004 Inside Lid 1
5 SB-141601/307 Handle Seat 2
6 * Screw M5 x 12 2
7 SB-141601/301 Right End Cap 1
8 * M6 Washer 10
9 * Elastic Wash 10
10 * M6 Nut 10
1 SB-142102/1005 Connent Slice 1

Page
SbB-47



rickmueller
Rectangle


PARTS LIST

Index Part
No. Number Description Qty.

00t

01/2400

01/800 | ~ RightDoor i :
SB-141601/209 The Door Blacks Slice

| 20 | sBi4teoipo8 || WheelPan
* Can be purcahsed from local hardware store.

SBG-600-2

Cart Frame

Page
SbB-48



rickmueller
Rectangle


LEFT SIDE SHELF VIEW RIGHT SIDE SHELF VIEW

PARTS LIST PARTS LIST

Index Part Index Part
No. Number Description Qty. No. Number Description Qty.

-—— -—
6 | SB-142101/2101 Link Block 1 6 | SB-142101/2101 Link Block 1
7 * Nut M6 2 7 * Nut M6 2
8 * Bolt M6 x 62 2 8 * Bolt M6 x 62 2
* Can be purcahsed from local hardware store. * Can be purcahsed from local hardware store.

SBG-600-2

Shelves

Page
SbB-49



rickmueller
Rectangle




